N = 0l & AF & F Al A
2000 = =0l &b LBHSIH L DIELSE R

SN 2D
Zo: ~m e

Sl £ oY (S5l &)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
el 19,320,651 7,330,364 1,990,287
2 252,900
| 10,191,430
= 4,250
= 354,085
2 8,518,016
>3z 7,297,550 5,760,815 1,536,735
| 4,505,055
= 57,435
2 2,735,060
»3Q9 oy 187,269 237,269 A50,000
= 43,635
2 143,634
TYSHYMAAL d2YH XS 87,269 15,269 28,000
= 43,635
2 43,634
101 oI24H] 14,619 14,619 0
= 7.310
2 7.309
10 JAHIENSES 14,619 14,619 0
OHZS LRMYI| £ 22 14,619
—oly 35,310 * 2% * 252 « 8% 14, 124
= 7,062
= 7,062
—282 S 14,124,000 * 3.5% 495
= 248
2 247
201 Ysregy) 47,850 72,890 25,040
= 23,925
2 23,925
01 AR el 2,000 8,000 6,000
OHES LRMD| +71(I =)
2,000,000 2,000
< 1,000
2 1,000




EZ
oA

DEY oY

M-S (3) - HRAY - BES Aro e =2
02 ZZ2YH| 45,850 64,890 219,040
OFEs EERMAYI =AH (232 HIAlD
3,000,000 3,000
< 1,500
fia 1,500
OFES 2MY 0| =H( =)
42,850,000 42,850
< 21,425
= 21,425
202 OdHl 4,800 2,760 2,040
= 2,400
i 2,400
01 3L LI 4,800 0 4,800
Ox&dgAt & 4,800,000 4,800
< 2,400
i 2,400
401 Al&HIZ =204 20,000 25,000 25,000
= 10,000
i 10,000
01 Al&Hl 20,000 25,000 25,000
Ood2sMdll Hel(
20,000,000 20,000
= 10,000
i 10,000
1283 HZAE &4X tEd 29 100,000 0 100,000
207 S OHEH 100,000 0 100,000
01 ¢844 100,000 0 100,000
OBIHQIARLAIL & =1
100,000,000 100,000
5 22 223,226 528,303 A 305,077
& 13,800
= 209,426
=SS FHl - 2el 195,626 489,303 N293,677
101 ol | 22,806 17,543 5,263
10 JIZtHZ2Z2NSES 22,806 17,543 5,263
OZ2SaE4a AR 22,806
-l 35,310 » 13H « 83| 63 22,034




A 23

Zu: 23

col: 2 pre (o |8l
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

—28z 22,033,440 = 3.5% 772

201 ZEH2EH] 36,120 21,760 14,360

01 AtR2teltl 8,000 0 8,000
Oget=ZH| 3,000
—SSEY 2 3,000,000 3,000
ogxz 5,000
— et E 20013 &EA AXL 500,000 = 10= 5,000

02 232944l 28,120 21,760 6,360
OBBRILHA 15,120

—SE3EY B33R2(HI], dot+=ER

2) 140,000 * 94 + 128 15,120
OAl& &= XYl 13,000

3,250,000 * 4002 13,000
401 AIEHIZLROYI 136,700 450,000 A 313,300
01 AI&HI 136,700 440,000 303,300
O=ssaaEa 2l 600,000 * 2774 4 16,200
ONYSIFA TYAT &3
700,000 * 15044 10,500
OztolA st &Ea AX 6,000,000 * 5 30,000
OB &XI(2Z4 - 287 =8
= HNIA) 80,000,000 * 1JH= 80,000
DdstEs N8 23 27,600 39,000 A 11,400
& 13,800
i 13,800
201 Ysregyl 27,600 39,000 A 11,400
= 13,800
2 3,800
01 AR 2&cldl 27,600 39,000 A 11,400
OptgH| 27,600
—DHSEA 2 (250 L) 27,600,000 27,600
= 13,800
s 13,800
ENL(FENLAEL S ) 446,500 896,500 A 450,000
Il 335,000




SA
X XH .
(=

chel:

)
sz

A ZOH & (£ 2p

_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES &hoh Ofl At ot HusZ
SENE (SRS ) = 111,500
HFaelol X8 446,500 446,500 0
p 335,000
z 111,500
402 BIEXHZO0IH 446,500 446,500 0
p 335,000
z 111,500
01 BIAR=EBXE 446,500 446,500 0
OBZ 35X ofo| X & 446,500,000 446,500
p] 335,000
2 111,500
MASBRINS NRAY (SBHLSLEH ) 6,440,555 4,098,743 2,341,812
p 4,170,085
= 2,270,500
ZOIX A K 6,170,055 3,738,743 2,431,312
p 4,170,085
2 2,000,000
101 o121 19,558 19,568 0
p 19,558
09 SIHA22RES 19,568 0 19,558
OZ=BIXI A A 2 BIE 2% 19,558
—-Jl23 862,700 * 1% = 122 10,353
p] 10,353
— 4012 862,700 * 1% » 48 3,451
p] 3,451
— Y EEIH| 862,700 * 1% * 23 * 60% 1,036
p] 1,036
—HHZA 130,000 * 1% = 128 1,560
p] 1,560
—AlZtel2 5,400 * 1% * 101AI2 546
p] 546
—ggaes
43,140 * 1% » 22 « 128 1,036
p] 1,036
—oix 23 28,760 * 1% * 152 432




SA
X XH .
(=

chel:

=
fa= @22 NS X2 A (

A X
—=

N

M

()

=
=

X

| )

fou

_ _ _ Muo
Ao BB ERI(BI) - MIRAY - B S O & o4 i HREZ
J| 432
—IE+=E 80,000 » 123 960
| 960
—XEEHEEY 45,900 = 1¥ * 43] 184
| 184
201 ZEH2EH] 20,000 24,000 24,000
| 20,000
01 AtR2teld 20,000 24,000 24,000
Ooget=gHl 20,000
—SPNAFONAALY BEQSHIA
Se(E 2l 20,000,000 20,000
| 20,000
202 OdHl 2,725 0 2,725
| 2,725
01 =LA bI 2,725 0 2,725
OJZXZHSEA 2,725,000 2,725
Il 2,725
307 QIt0IA 397,138 114,000 283,138
| 397,138
02 A4S X 397,138 114,000 283,138
O&AEF=BXAANS 397,138,000 397,138
Il 397,138
308 NXIHHSOIE 292,420 354,340 261,920
| 292,420
06 wSEJ|20UetExs 292,420 354,340 A61,920
O30HYUWAL 28 K& 292,420,000 292,420
J| 292,420
401 A& HIZ 20| 2,471,505 2,329,345 142,160
| 1,471,505
z 1,000,000
01 A&l 2,464,105 2,321,945 142,160
O==HXAFAUX AL 2,464,105,000 2,464,105
| 1,464,105
i 1,000,000




A 23

Z@: ~m e
ol ALY KRAMY(SBHHSH S ) (9@ 2)
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 il b o bRz
03 Al&=CH] 7,400 7,400 0
O=H X A=A AN 7,400,000 7,400
| 7,400
402 QIEXE01 M 2,466,709 531,500 1,935,209
Il 1,466,709
= 1,000,000
01 BIZAX=Ex 2,466,709 531,500 1,935,209
O4BI X T2 XI & ALY 2,466,709,000 2,466,709
p) 1,466,709
i 1,000,000
702 JIsdEsS 500,000 0 500,000
] 500,000
01 JISHEZ 500,000 0 500,000
OFRINAANY Fe1II3 Ny 500,000,000 500,000
g 500,000
FUXZ ALY S - 2el 270,500 360,000 A 89,500
101 el H] 10,000 0 10,000
10 JARIEZNSES 10,000 0 10,000
OFCXIAME J=kz 2 10,000,000 10,000
201 LEr23H] 6,000 0 6,000
02 22944 6,000 0 6,000
OZZRILAA 6,000
—FUXNEAE2H RELRSESS 1,000,000 1,000
~FONRAL Y BTRI (M2 S)
5,000,000 5,000
303 ZA3 4,500 0 4,500
01 Z4&= 4,500 0 4,500
OFRITIAAY BOF AINS 4,500
— = 15 - & = 2,000,000 2,000
-2 = 18 - & = 1,000,000 1,000
-& d 38 - & = 500,000 1,500
401 AIEHIZ=20Y] 250,000 340,000 290,000
01 Al&HI 200,000 300,000 A 100,000




A BE
B xR
SHol: AARPNY KRAY (SEHH S5 ) (Er9): &2
SN (B) - MBEAY - B2 oy e HRZ2
OF0UXJAIE 2K - 2] 200,000,000 200,000
02 Zeldl 20,000 20,000 0
OFAUX &AL 20,000,000 20,000
03 Al S 0HbI 30,000 20,000 10,000
OF0 XA 30,000,000 30,000
HOISo =Y Mol 2 KRs 5,218, 147 4,012,863 1,205,284
= 242,000
= 4,250
= 175,070
iy 4,796,827
HIIZ22 HE Xl 3,176,056 2,850,424 325,632
HII22 =& - 2E Q&AL 2,533,000 2,364,000 169,000
201 B2 IH| 3,000 3,000 0
01 ArR2t2|bl 3,000 3,000 0
OBt H| 3,000
—MEHIZ2 ULRESHHUAN S
=3 1,500,000 * 224 3,000
207 HAFRINEHI 30,000 28,000 2,000
01 A& 49H| 30,000 28,000 2,000
O ALJIAN 84 30,000,000 30,000
307 QIZtoIA 2,500,000 2,333,000 167,000
05 oIzt 2,500,000 2,333,000 167,000
OMEHIISs-E 20 ALS
2,500,000,000 2,500,000
MYl EY EI0| Z2A & og 197,225 180,550 16,675
101 ©1AH| 47,145 39,470 7,675
10 JI2ZtHIZ2ENSE S 47,145 39,470 7,675
OMYDIZYEEDl HE o8 36, 181
—oI2 35,310 *» 118 = 90 34,957
—2B&8= 34,956,900 * 3.5% 1,224
OM Dl E8ED| ZAIt0H 2 292X 10,964
— 0ol 35,310 *» 18 = 252 * 128 10,593
—28g= 10,593,000 * 3.5% 371




A==
3 molE2 88 xd & A

&elr HIIZ2 2E X (e &
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
201 LAY 32,280 32,920 A640
01 AtS2cld] 480 14,680 A 14,200
Ol =4l 480
=MD SYEEI g5 2
80,000 * 3 * 23] 480
02 =32EHl 31,800 18,240 13,560
O=32=24HAl 16,800
=M SYEI| ZAH0H2 MRS
15,000 = 20CH = 12& 3,600
—MI] SYEEI| ZASH02 SEAE
= 55,000 = 20CH 123 13,200
OA&EZHIS X 15,000
—=S8SI| 2AI3t0et #Hl |Xl2e
750,000 * 20CH 15,000
202 O4Hl 3,600 5,760 22,160
01 3L 3,600 5,760 AN2,160
OHJIE SY &I &= 0l
20,000 » 3 * 53 =123 3,600
401 AlZHIZL=20HY] 82,200 69,200 13,000
01 A&l 82,200 69,200 13,000
O=YYXHIIZE XMl 50,000,000 50,000

O=YSI| ZAIIH02 Ol8&X
400,000 = 120H = 43| 19,200

OMGIIRHEI] FNE &X

130,000 * 100K 13,000

405 KHeHHE S| 32,000 32,000 0

01 A =SSFHSHI 32,000 32,000 0

O=28EIl ZAl2t0et &X

8,000,000 = 4CH 32,000

A ze 440,211 305,874 134,337

101 1A 47,511 73,824 N26,313

10 JIZAN22ASES 47,51 73,824 N26,313
OLHIAXE 2(Bx™) 8,041
— Q2 35,310 » 18 = 22 » 108 7,769
—28= 7,769,000 * 3.5% 272
OotEHF AR A MI] =H 39,470
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3 molE2 88 xd & A

el HOISC XF {2 k)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod e HlnE2
—olsy
35,310 * 63 * 102 « 6HS » 32 38,135
~-282 38,135,000 * 3.5% 1,335
201 Ysr2gy) 211,700 211,050 650
01 AR 22l 211,700 211,050 650
Ogsr+gH| 207,500
—BYM FASE ME(125)
125 + 1,500,00004 187,500
~HII2 22thE 222 AN
16,000,000 16,000
~UEHII2 +22H2LS AEH X
x 400 * 10,0000 4,000
OTAE 4,200
—MED| BB FUDS AR
70,000 * 2 308l 4,200
206 &I 9,000 9,000 0
EIETI 9,000 9,000 0
O LHHANTRY HRPY (B4
ol 123) 9,000,000 9,000
401 AlEHIL ] 160,000 0 160,000
01 AIZH] 160,000 0 160,000
ORUIIBYH AAZE B2IS S
130,000,000 * 15 130,000
OEAXIE OI0IXI HEAIR (RIE T4
1,500,000 * 20CH 30,000
405 RArFESH) 12,000 2,000 0
01 TMUSEBFHSY] 12,000 12,000 0
O MYIBTH FASE ST (125)
2,000,000 2,000
REHHE2SS =X 5,620 0 5,620
201 Ysr2gy) 5,620 0 5,620
01 At el 5,620 0 5,620
Ogsr+gH| 5,620
—2EHILES =2 Y HH
80,000 * 60 * 23l 960
—Jl2EAE Ot 7Y 250 * 8,00004 2,000
—Jt2HA® A S TY 1,000 * 30004 300




A==
3 molE2 88 xd & A

Sel: o229 ®F Xl (A2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES A oH @;OH Hl =2
—HEMXI|I| ESSL M=
80,000 * 601 * 23] 960
—HAEMXII EES ME
200 * 5,0000H 1,000
—HAMMNEBADNEH EE Y=
20,000 * 207K 400
MIZES S88 2Y 1,128,391 1,082,839 45,552
QMY 29 1,128,391 1,082,839 45,552
101 Q14 462,301 409,355 52,946
10 JIZH22UsSES 462,301 409,355 52,946
OMee dgxa o2 311,731
— QIO (AI2t2] EEH)
35,310 * 253 » 28 x 12€ 296,604
—B82 296,604,000 * 5. 1% 15,127
OAMARH2Y o129 144,370
—Qlgg 67,570 6 » 282 * 122 136,222
—-28a2 136,222,000 * 5.1% 6,948
— WA A 100,000 * 6 * 23 1,200
OLZAIAS TI=H| 200,000 * 31 6,200
201 LEr2HH| 333,890 427,884 93,994
01 AtR22IH] 120,880 81,130 39,750
OLta2H| 49,880
—HEE 2925 2 200,000 * 128’ 2,400
—AMIHEE =222 ME
2,500,000 * 23 5,000
—ANEBEIWHEX EL2E 2A =42
2,500,000 * 13 2,500
—HEELEHABAI LS 20,480
- XIgts 8, & 2
160,000 * 10JHA » 122 19,200
- XIGk2= HHMIZ 1, SISHHRIZ 1
160,000 * 2MA * 427 1,280
— S QEZ(XES, LMIIA)HA
= 100,000 * B5XI& * 427 2,000
-2 7 100,000 * 23 200
—2ROIAT L 2Rl 1o
700 * 8,000H 5,600
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A==

2 HII29 HF M2l & RS
Sl M A SEX 29Y (982
i} _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
—2FE AAIA RY 10,000 * 10E 100
—Algt29 PG 2 50,000 * 125 600
—EE2(sdX)Hal
10,000 * 6O0E * 23 1,200
—AIRA X FHA
10,000 * 10€ * 23 200
—ZolAl U HEE A=E ASH
100,000 * 3 A * 123 3,600
—HEX H=ZY 299 2,000,000 * 33 6,000
O=2dag 23,750
— =AY 50,000 * 1% = 365 18,250
— XY 50,000 = 19 = 110 5,500
@)E=1:]] 2,250
—Zoj= U OtMEH R
250,000 * 9 * 13 2,250
O= 2| 4,000
—HEE 29 422X =4 4,000,000 4,000
otz 41,000
—JI2tH 22X S2HA 94Xt
2,500,000 * 1CH * 129 30,000
—HHED L HE2ES 0| S &
H «x2 200,000 * 303l 6,000
—S23H 9x2 5,000,000 5,000
02 ZZ2=29H 213,010 346,754 A 133,744
OZ2Z=2YHA 77,250
— A2 A 3,000,000 * 13 3,000
—HEE I3 5,000,000 * 12 60,000
—HMI|orM 22| HEH =42
800,000 » 12 9,600
—AeYErAZ 50,000 * 122 600
—E38Ea 2,800
Xl Xt 500,000 * 1CH 500
- 24D 700,000 * 1CH 700
- 224 400,000 * 1CH 400
-HYsS(2ZEdH) 1,200,000 = 1CH 1,200
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SN 2D
By HOI2o NI Hel ¥ X

o
tol

col SIMjENe B8N 29 (9 &
_ _ PSEN=
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
—dJ| A= 550
-« XX 150,000  1CH 150
- =4 100,000 = 1CH 100
220 200,000  1CH 200
HEsl2(8ZEH) 100,000 * 1CH 100
— XS Al 200,000 = 2CH 400
—BANLSLYS (MY, AE)
150,000 * 22 300
@)= 10,000
—HasdEd 28 5,000,000 = 1JH=A 5,000
—g=g =29 5,000,000 = 1JHA 5,000
OAl2 &l =Xt 62,200
—¢=g =29 20,000,000 20,000
—HasdEdy 29 20,000,000 20,000
—EEH2AE D=2l 3,500,000 3,500
—HEASEL T JIAH =2l (9t)
4,000,000 4,000
—HEH 2T JIARI(Felr, 22)n
g 50,000 = 9CH = 43| * 25 3,600
—NEA4E 22 = 500,000 500
—AZAE 22l 7 4,000,000 4,000
—2x HEE =228 X 2
900,000 * 22 * 23 3,600
—HA=I| Y ARZSE 2EI| =2l
1,000,000 = 3CH 3,000
OXteta et 51,060
— XX 7,700,000 = 2CH 15,400
—=4) 16,500,000 * 1CH 16,500
—220 5,500,000 = 1CH 5,500
—SI2EH(HE) 13,660,000 * 1CH 13,660
OSRas Ha2Z8 2= 12,500
—NEAdHd 500,000 » 25& 12,500
206 M=l 145,900 145,600 300
01 M=t 145,900 145,600 300
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A==
3 mWolE2 848 X & A

Col SIMIlENe BEN 29 Rk
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OgsMY I HEEHZBSHA
2,000,000 » 25& 50,000
OgsMY D ZTHLEE 60,000 * 6002 36,000
O 48 283 F2! 5,000,000 5,000
OASAZ(AMEM) 40,000 * 22lEf * 903l 7,200
O & AFEFTH 50,000 * 50 2,500
ON&EZE Hatzs 10,000 » 200 2,000
OMEX SEEM 60,000 * 600CH 36,000
OFEg #¢ 600,000 * 12& 7,200
401 AIEZHIZLE204H] 100,000 0
01 Al&H| 100,000 0
O/MIEE A4 | 22 100,000,000 100,000
405 RKtaHFESHI 86,300 86,300
01 ANAMNLEEFSHI 86,300 86,300
OMEEE NSYEZ2I| 7Y
83,000,000 * 1CH 83,000
OsiEa A=) 600,000 * 3CH 1,800
O&E X QL X (A G 200,000 * 1CH 200
OLXHED(AG) 1,000,000 * 1CH 1,000
O&ED| 300,000 * 1CH 300
H2I2X2l JIetAlE &= 806,900 806,900
= 242,000
= 169,470
o 395,430
HII2 MXelAl& (MBT) &X 806,900 0 806,900
= 242,000
= 169,470
iy 395,430
401 AIEHIZL 204 5,000 0 5,000
= 1,500
== 1,050
o 2,450
03 Al S 0HbI 5,000 0 5,000
QHJIES HX2lAlI&(MBT) &X 5,000,000 5,000




A==
3 molE2 88 xd & A

&2l HIISHel jl‘jd/\léigﬁ (el =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 1,500
= 1,050
i 2,450
402 QI2EE01M 801,900 0 801,900
= 240,500
= 168,420
2 392,980
02 CIZ2HCHH AL HI 801,900 0 801,900
OHJI=2 dHelAld(MBT) &X 801,900,000 801,900
= 240,500
< 168,420
i 392,980
HOI22 &3 106,800 79,600 27,200
= 4,250
& 5,600
= 96,950
HOI2 MES 54,400 54,600 200
201 Y2yl 20,000 22,800 A2,800
01 Atf2teld 20,000 22,800 22,800
Oget=EH| 20,000
—MHEE #A0H M 250 * 80, 0000HK 20,000
307 QIt0IA 14,400 14,400 0
02 QtFAE X 14,400 14,400 0
OHJIS+=2UTHE S AL 14,400,000 14,400
401 AIEHIZLROY| 20,000 16,800 3,200
01 Al&HI 20,000 16,800 3,200
OMess 2cl=Hg 4
200,000 * 100H 2~ 20,000
SEHHE=HEA3 14,000 20,000 26,000
L= 5,600
i 8,400
301 YBtEa= 14,000 20,000 26,000
& 5,600
= 8,400
12 JIEt2 43 14,000 20,000 26,000




EZ

CHYIE2 HE Al & e
D HJIE2 AR (ctel: &
SN S(B) - NRAY - B2 Aro B =2
0l &
sZHHE=HEd=3 14,000,000 14,000
< 5,600
fiis 8,400
UsZH 23 38,400 5,000 33,400
= 4,250
i 34,150
201 Lt 23,400 5,000 18,400
01 At 2eld] 23,400 5,000 18,400
Ooget=gHl 2,400
—Us&H 2E=3 +¥
200,000 * 1A + 128 2,400
ogxz 21,000
—UsdH &t 253
15,000,000 * 1902 15,000
—Us&H &0t Zi=
500,000 * 1A = 12 6,000
401 AU 204 15,000 0 15,000
= 4,250
i 10,750
01 Al&HI 15,000 0 15,000
OU=s&EH &0t 2H2lo
15,000,000 * 1JH2~ 15,000
= 4,250
i 10,750
CHOl - M&Zolfl 2el 163,042 125,302 37,740
= 10,900
& 5,450
i 146,692
CHol - etded o 163,042 125,302 37,740
= 10,900
L= 5,450
i 146,692
legd 2 Mezof N - o= 36,242 37,902 A 1,660
201 ZBH2EH] 14,122 13,002 1,120
01 AtE2teldl 13,882 12,102 1,780
Ooget=EHl 13,342
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A 23

g o] - Ao 2el
SRl o - S3Z2g oY (el =
= X ZH . ClO (5 NEAS . HA2 A} OH &EIE H D=2t

—EAHMH A AIZ THH

350,000 * 1000 3,500
— Mg 2 2,092
- 22M=-(22) 620 * 500H 310
- 22U (41) 1,100 * 100H 110
- Kelg2ye) 4,180 * 400K 1,672
—HIIAZIHFD BE AL =42
1,500,000 * 13| * 1CH 1,500
— Ot IZ W el 35,000 * 80M 2,800
—UIIANBIFD ARE 300,000 » 5& 1,500
—AS=FH)| BT A 32
50,000 * 1CH 50
—BEASE BT A =42
125,000 * 13| = 204 250
—H=XE HICIQ Jtolet S 2AA
= 150,000 * 1CH 150
—HESHAZSE ABE 500,000 * 2CH 1,000
—=XNE ULt 222
250,000 = 2CH 500
Ol =H] 540
—EAQASE HISAIYE Ci
90,000 * 3% « 23] 540
02 ZBZ=29H 240 0 240
Os32= ¥ AHA 240
—SFHRPOITE EME 20,000 * 122 240
202 O] 3,840 4,800 A 960
01 =2LHOIHI 3,840 4,800 A 960
OSALAESE HIZ AFHE S0
20,000 * 29 » 8 12 3,840
301 LBtEA2 3,280 10,100 16,820
10 SALAHI 2 A 1,280 5,100 A3,820
OHSAXZ0 S2s24 20,000 * 64Y 1,280
12 JIEtB A2 2,000 5,000 A3,000
OB ADNBAS 200,000 * 10Y 2,000
405 XHAHE SH 15,000 0 15,000
01 KL SEFEH| 15,000 0 15,000
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SN 2AD
Hal: (1) - 423l 2ol
ol )] B ERY ol (£ &)
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
SEEERERBIER 15,000,000 15,000
SEAWINLEE A 21,800 87,400 65,600
= 10,900
& 5,450
2 5,450
402 Q2AT0IH 21,800 87,400 765,600
= 10,900
= 5,450
2 5,450
EEEEES 21,800 87,400 /65,600
OXZTH KHEX 22 (80H) 21,800,000 21,800
2 10,900
& 5,450
2 5,450
ISHBUS B PE 105,000 0 105,000
201 er2g| 5,000 0 5,000
01 At 2tel| 5,000 0 5,000
OgergH| 5,000
—JIBHHHSHY 222 M
5,000,000 5,000
207 STl 100,000 0 100,000
NBEEEET 100,000 0 100,000
OJlZHEUS JI=2HE 22 8
100,000,000 100,000
MEI Y RQiEE 25 471,700 262,400 209,300
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